 



Review of COMM 422
1. There are two industries, A and B. Suppose the potential market size of both industry is 1,000,000,000. The scarcity or the level of market saturation of an industry can be represented by P. Then the value of an industry can be represented by 1,000,000,000*P*(-lnP). Suppose for industry A, the level of market saturation will increase from the current level of 55% to 65% in next ten years. Calculate how much the market value will change for industry A in next ten years. Suppose for industry B, the level of scarcity will change from the current level of 55% to 45% in next ten years, due to the depletion of natural resources. Calculate how much the market value will change for industry B in next ten years. Assume you are given two job offers from both industry A and industry B. Both offers provide similar packages. A friend of you suggests that industry A is a growing industry and industry B is a declining industry and hence working in industry A has a brighter future. What would you think and which offer you are more likely to accept? 
2. The valuation of an industry depends not only on its output, but also on its potential market size. The valuation of a firm can be measured by 
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where M is the potential market size and P is the market saturation. 
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is the output of the industry. Suppose the industry’s output, S, is 500 million dollar. If the potential market size is 5000 million what is the value of the industry? If, however, the potential market size will be 25000 million dollars, what is the value of the industry? Some people suggest that Canadian energy resources should only trade in North American market instead of the global market. From the value theory, how the restriction of market size affects the value of Canadian resources? 
3. Suppose Country A imports oil from ten countries and Country C export oil to one country. Then seller’s power to Country A can be represented as 
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and buyer’s power to Country C can be represented as
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 EMBED Equation.3  [image: image5.wmf]
Here 1.1 is used as an approximate to 1 for the ease of calculation. Suppose the values distributed among trading partners can be modeled as 



[image: image6.wmf]buyer 

for 

   

power

 

s

seller'

 

power 

 

s

buyer'

power

 

s

buyer'

+


and 
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What percentages of values going to Country A and C respectively in their oil trading? Suppose now Country C develop a new route of export which can reach ten countries instead of just one. The new seller’s power becomes 



[image: image8.wmf]P

10

log

-


Please calculate the new percentages of values going to Country A and C respectively in their oil trading. 
4. Country C is a big producer of lumber while country A is a big consumer of lumber. From value theory, the value of lumber market is represented by 
VP(-lnP), where P is the proportion of lumber that is on the market and the unit price of lumber is –lnP. V, the total volume of the forest, is 10000. Suppose the total fixed cost in lumber production in country C is 250 million dollars. The marginal cost is 30% of product value. So the total cost of production is 250+0.3*V*P*(-lnP). Total value of the lumber products is VP(-lnP). The profit from lumber production is
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In most years, P = 1.2% . Calculate the profit of the lumber producers. Recently, environmental groups from country A determine that logging damages environment. As a result, country A imposes a 25% environmental duty on lumber from country C. The new profit from lumber production is therefore 
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If the volume of production remains at old level of 1.2%, what is the profit on production for country C? If the production level is increased to P = 1.8%, what is the profit for country C? What are the old and new unit prices of the softwood lumber? How much tariff Country A’s government can collect from the lumber trade when the production rate is 1.8% of the total volume? Explain how this environmental policy from country A affects the profit of country C’s lumber industry, country A’s government earning and cost of lumber to country A’s consumers. Explain whether the environmental duty help the environment or further damage the environment. 
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